CONTACT INFO

Tel:  248-370-3291

Office hours:  T,TH 1:30-2:30, and by appointment
ANNOUNCEMENTS  (Last Update:  Apr. 24, 2008)
Final exam and course grade for those who requested “Post”.  These are not in alphabetical order.  The final grade includes improvement points:  1 point for each 5 point improvement on final exam, e.g., a 12 point improvement = 3 additional points.

Code
Exam
Grade

0808
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2.9
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123.5
3.4
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106.5
2.3

8522
139
2.5

6450
98
1.1

1177
132
2.9

7474
80
2.0

1986
111.5
2.4

4243
142.5
4

8328
93
0

1258
107
2.9

4T20
136.5
2.0

4026
152.5
4

3734
133.5
3.6

2424
143
3.8

9435
139
4

5250
119.5
3.2

1969
152
4

All 20 students:  Mean = 2.82; Median = 2.9

Final Exam Information (Winter 2008) 

Final Exam Outline (subject to minor changes).  Remember to bring, Red, Blue, and Black pens/pencils for the test.  It will start at 7 pm on Apr. 22.

Total:  153 points (includes 3 extra points)
#1 (Ch. 14): 3 parts—26 points: Given a demand equation and price: graph and deal with consumer’s surplus and changes in CS.

#2 (Ch. 15): 3 parts—30 points: Given demands for two types of consumers: deal with graph, total demand, and price elasticities.

#3 (Ch. 16): 5 parts—36 points:  Given D and S equations: deal with equilibrium, graphing, unit tax or subsidy.

#4 (Ch. 31): 5 parts—36 points:  Given utility function and initial endowments for 2 persons: deal Edgeworth Box, graphing U curves, determining contract curve, and competitive equilibrium.

#5 (Ch. 33): 4 parts—25 points): Given UPF equation: deal with sketching UPF, its slope, and maximizing W for different social welfare functions.

IN-CLASS & HOMEWORK ASSIGNMENTS

(This is based on my previous schedule for this course and are subject to changes/ adjustments.  I will update as we progress through the course.)
√ Jan. 8:     Due Jan. 15: Complete Ch. 1 Handout Problems 1.1-1.5.
√ Jan. 15:   Due Jan. 22: Complete Ch. 2 Handout Problems 2.1-2.5
√ Jan. 22:   Due Jan. 29: Complete Ch. 3 Handout Problems through 3.2.  
√ Jan. 29:   Due Feb. 5:  Complete Ch. 4 Handout Problems through 4.2.

√ Feb. 5:    Due Feb. 12:  Ch. 5 Handout: 5.1-5.3

√ Feb. 12:   Due Feb. 19:  Ch. 6 Handout: 6.1-6.3, Ch. 8 Handout 8.1. Also work on sample mid-term above.
√ Feb. 19:   labor-leisure assignment due on Mar. 4.

Tom’s wage rate is $10 per hour.  He currently works 8 hours per day.  

a. Draw Tom’s income-leisure constraint (on a daily basis) and show his current utility maximizing optimum (black). 

b. Tom finds that he is eligible for public assistance.  The program provides $50 per day regardless of the amount that Tom works.  Draw Tom’s new income-leisure constraint and indicate the optimum (red).  Explain whether Tom will work more or less hours.

c. The program in part b is changed.  The amount of assistance is reduced by 50% of any wage income that Tom receives.

a. Draw Tom’s new income-leisure constraint and equilibrium (blue).

b. Describe the income and substitution effects to analyze the impact of this program on Tom’s hours of work in comparison to part b.

√ Mar. 11:  Due: Mar 18.  14.3, 15.1,15.2
√  Mar. 18:  Due: Mar 25.  Handout Problems 16.1(a-f),16.2, 16.3(a).  You must show your work on the Handout sheets or attachments.
√ Mar. 25:  Due:  Apr. 1.  Handout Problems 31.1, 31.3.

√ Apr. 1:  Apr. 8.  No assignment.
√ Apr. 8:  Due:  Apr. 15. Handout Problems: 33.2, 33.3, 33.5.  Complete table on utility function and think about St. Petersburg Paradox.  
ANSWERS TO HANDOUT PROBLEMS
CLASS SUMMARIES

(This is based on my previous schedule.  It will be update with our progress this semester.)
√ Jan. 8 
Cover Ch. 1.  Main ideas include:

1. Using a model

2. Constructing a demand curve based on willingness to pay (reservation price).  The curve becomes smooth for a large number of consumers.

3. Supply depends on the time frame.

4. Equilibrium price: where quantity demanded = quantity supplied (in a competitive market structure).

5. Comparative statics:  Comparing equilibria when an exogenous event changes D or S.

6. Other allocation methods:  ordinary monopolist (maximizing TR so that MR=0 in cases where MC =0; discriminating (1st degree) monopolist that appropriates the consumers’ surplus; rent controls (effective price ceiling) that creates a shortage.

7. Understanding Pareto Efficiency/Pareto Improvement and using these criteria to compare the three allocation methods.

8. Other applications, e.g, placing a tax on the supplier or on consumers. 

√ Jan. 15
Cover the Sample Quiz problems.

Cover Ch. 2.  Main ideas:

1. Budget constraint and budget equation.  You should be able to develop the information if you are given to consumption bundles that are on the budget line.

2. Slope = -p1/p2.  Measures opportunity costs of good 1.

3. Dealing with changes in budget line resulting from changes in incomes, prices, taxes and subsidies.

4. Dealing with situations such as an in-kind subsidy (Food Stamps), rationing, black markets.
We went over Text Question 1 and commented on the Ch. 2 Handout.
We covered Ch. 3 up to p. 44 (Well Behaved Preferences).  The main ideas covered include:

1. Preferences are relationships between bundles of goods.  An individual strictly prefers, weakly prefers or is indifferent between any two bundles.

2. We make assumptions about preferences:  complete, reflexive, transitive

3. Indifference curves graph the bundles that are indifferent to some bundle.

4. We gave examples of preferences that are not “well behaved”:  perfect substitutes/complements, neutrals, bads, discrete preferences, lexicographical ordering

√ Jan. 22
Reviewed Ch. 2 Handout Problems.  Complete Ch. 3 on well-behaved preferences.  These reflect monotonicity (i.e., more is better) so that ICs will be negatively sloped.  With averages preferred to extremes, the ICs will be convex.  The key concept is the MRS:

1. It is the slope of the IC (dy/dx) and, algebraically, will have a negative sign.

2. It measures how a consumer is willing to pay (give up) or trade off one good for the other.

3. Strictly convex ICs have a decreasing slope (in absolute value) showing that the consumer is willing to give up less and less of good 2 for a unit increase in good 1.

Completed Ch. 4 covering:

1. A utility function as a way of assigning numbers to preferences so that more preferred bundles have higher numbers.

2. Cardinal vs. ordinal utility

3. Monotonic transformations of a utility function represent the same preferences.

4. Examples of utility functions with special emphasis on Cobb-Doulglas.

5. MU and MRS.  MRS is the slope of an indifference curve and equals the negative of the ratio of MUs.

√ Jan. 29
Gave Quiz.  Reviewed Ch. 3 Handout problems. Completed most of Ch. 5:
1. Optimal choice:  -MRSx1.x2 = p1/p2.  Showed how to solve with a Cobb-Douglas example.

2. Looked at exceptions resulting in a boundary optimum (corner solution), e.g., kinky tastes, neutrals, bads

3. Concave preferences

4. Cobb-Douglas preferences

a. Will spend constant shares of income on each good when sum of exponents (c + d) =1

b. ICs are homothetic, i.e., will have the same MRS for a given ratio of x2/x1
5. Implications of MRS condition (I will review here and add the following next week)
a. everyone facing same prices will have same MRS

a. inefficiency of subsidizing one group of consumers: introduced Edgeworth Box to describe this for medical care
b. Inefficiency (moral hazard) associated with complete insurance

√ Feb. 5
Return Quiz.  Review Ch. 4 Handout Problems.  Complete Ch. 5.  Income tax vs, quantity tax:  Income tax is superior in that it can raise the same revenues while leaving individuals at higher levels of utility.
Complete Ch. 6 (Demand):

1. Optimal choice as income changes:  income offer curve, Engel curves, normal & inferior goods

2.  Examples: perfect substitutes & complements, Cobb-Douglas preferences, quasi-linear preferences

3. Ordinary & Giffen goods

4. Price offer curve and demand curve

5. Substitutes & complements

6. Inverse demand function & its interpretation

Introduce Ch. 7 (Revealed Preference) including the basic idea (Principle of Revealed Preference) and, graphically, how to narrow the region of ignorance between more preferred and less preferred bindles.  I’ll spend a little more time on this next week.

√ Feb 12
Reviewed Revealed Preference (Ch. 7).  You are responsible only to p. 125.  Covered text problems 1 and 2 on p. 135.  We started Ch. 8 and went through income and substitution effects (up to p. 142).  We illustrated these with Handout problem 8.2.  

√ Feb. 19
Reviewed the Handout Problems for both Ch. 5 and Ch. 6.  Completed Ch. 8.
1. Showed Slutsky income and substitution effects

2. Examples involving perfect complements and quasi-linear utility

3. Application to leisure-labor decision

4. Hicks substitution effect and compensated demand
Reviewed Handout Problems 8.1 and 8.3.  Reviewed sample mid-term.
Mar. 4:  Midterm

√ Mar. 11:  Reviewed Midterm; reviewed labor-leisure assignment
Covered Ch. 14:
1. Basic idea of consumer surplus using discrete demand

2. Change in CS following price change

3. Compensating and equivalent variation

4. Application to quasi-linear preferences

5. Producers’ Surplus

6. Application involving price controls

Completed Handout Problems: 14.1, 14.2

Began Ch. 15:

1. Market demand as horizontal summation of individual demands

2. Inverse demand

√ Mar. 18:  Completed Ch. 15:

3. Price elastictity of demand

4. Elasticities along linear demand curve

5. Elasticities and changes in TR

6. Elasticities and MR

Graded & reviewed Homework Assignment (14.3,15.1,15.2); reviewed 15.0, 15.3 that were done in-class.
Completed parts of Ch. 16 including.

1. Market equilibrium, including limiting cases, inverse demand and supply

2. Equilibrium with linear D and S curves

3. Comparative statics:  Shifts in D and/or S,

√ Mar. 25

      4.  unit taxes or subsidies

5. Tax shifting

6. DWL of a tax or subsidy

7. income taxes and labor

8. the Laffer Curve (Ch. 15 Appendix)

9. partial equilibrium approach to Pareto Efficiency.  

Ch. 31:

1. Distinguishing between general and partial equilibrium analysis

2. Understanding the Edgeworth Box including feasible allocations, trade

3. Preferences and Pareto Efficiency; the contract curve

Did parts of Handout 31.1.

√ Apr. 1: Reviewed Handout Problems 16.1, 16.3, 31.1, 31.3.  Reviewed Edgeworth Box and PE.  Completed Ch. 31 on monopoly (not PE) and perfectly discriminating monopoly (PE);  Discussed implications of 1st and 2nd Welfare Theorems.
Department Assessment Test.

√ Apr. 8:  Review Handout assignments 31.4.   We completed Ch. 33:

1. I described efficiency in production and derivation of the PP curve

2. Developed the utility possibility frontier (UPF)

3. Introduced Social Welfare Function (W) and described desirable properties

4. Talked about Arrow’s Theorem and the contradictions that arise for a social welfare function that has only a few simple rules

5. Welfare maximization and some implications 

Brief discussion of Ch. 12: expected income, expected utility, risk aversion, St. Petersburg Paradox.

√ Apr. 15:   Completed discussion of risk including applications from Rabin; reviewed Ch. 33 Handout problems; described final examination
CHAPTER ASSIGNMENTS
These are in addition to the in-class and Handout assignments
Ch. 1:  1, 2, 6, 7 
Ch. 2: 1-7
Ch. 3: 1-7

Ch. 4: 1-6

Ch. 5: 1,2,5

Ch. 6: 1,3,5,8

Ch. 7: 1,2
Ch. 8: 2

Ch. 14: 2-4

Ch. 15: 1,3,4

Ch. 16: 4, 5

Ch. 31: 1,2

SAMPLE MIDTERM

Value:  150 points: 30% of grade.  All work must be shown or explained to receive credit.
1. Juan has $60 to spend on goods X and Y. Good X costs $4 per unit and good Y costs $6 per unit.  Juan’s budget equation is:  (6)

2.  If you spent all your income, you could afford either 3 pounds of beef (X) and 7 pounds of chicken (Y), or 4 pounds of beef and 2 pounds of chicken.  Determine (i) the ratio of the price of beef to the price of chicken, and (ii) the budget equation assuming that the price of chicken is $1 per pound.  (10)

3.  The set of combinations of apples and bananas between which Lisa is indifferent is given by:  Xb =  30 - 8Xa0.5. (Both Xa and Xb must be non-negative).  
a. Bundles (4, ___) and (9, ___) lie on the same indifference curve.  (4)

b. Lisa’s MRSXa.Xb is give by the equation:  (7)

c.      Lisa’s MRSXa.Xb at (9,6) =   __________  (4)

d.      Determine whether Lisa’s indifference curve shows a diminishing MRS.  (8)

4. Julian has the following utility function:  U = X0.5Y0.5 where X is the number of CDs and Y is movies per month.

a. Sketch Julian’s indifference curve for U = 10 when X=1, X= 4, X= 9.  Label the axes.  (10)


[image: image1]     

b. Determine the equation for the MRSx.y.  (7)

c. Determine Julian’s MRSx.y on this indifference curve when X=4.  (4)

d. Explain whether U = XY is a monotonic transformation of the utility function that was initially given.  (9)

e. Julian has $50 per month to spend on CDs and movies.  The price of a CD = $10 and a movie = $5.  Determine Julian’s optimum quantity of CDs and movies. (10)

f. Show the optimum on your graph in part a, including the budget line and its intercepts, and determine the highest utility (using the original utility equation) that Julian can attain.  (8)

g. Julian’s income doubles to $100 per month.  Without reworking the utility maximizing process, (i) explain what the new quantity of movies will be, and (ii) sketch Julian’s Engel curve below. (Label the axes)  (10)




[image: image2]
5. Thelma’s utility function is U = (X1 + 3)(X2 + 5).

a. Thelma’s current bundle is (2,7).  Louise offers to give Thelma 3 units of X1 for 5 units of X2.  Explain whether Thelma will accept this trade.  (6)

b. Determine the minimum amount of X1 that Louise must give Thelma for 5 units of X2.  (6)

c. Determine the equation for Thelma’s MRSX1.X2.  (6)

d. Suppose that the price of each good is $1 and that Thelma’s income is $26.  Determine whether Thelma is able to reach the indifference curve represented by U = 300.  (10)

6. When prices of goods X and Y are (4,6), Freddie chooses the bundle (6,6).  When prices change to (6,3), he chooses the bundle (10,0).  Show or explain whether Freddie’s behavior is consistent with theory of Revealed Preference.  (10)
7. What kind of utility functions are represented by the following example of behavior.  (15)

a. The individual always spends 30 percent of her income on food.

b. The individual always buys the same quantity of food regardless of income.

c. The individual always buys the same ratio of steak to potatoes regardless of the relative prices of these goods.

SAMPLE QUIZ
Value:  50 points: 10% of grade.  All work must be shown or explained to receive credit.
1. Local boat sellers have a fixed supply of 5 boats this month.  Reservation prices of the buyers are as follows:

	A 
	B 
	C
	D
	E
	F
	G
	H

	9,500
	15,000
	18,000
	7,000
	15,000
	16,000
	11,000
	10,000


a. Sketch the demand curve below.  Label the axes.  (8)


[image: image3]
b. Determine the maximum and minimum equilibrium prices if the market is a competitive one.  (5)

c.  One of the boats is rented for the year to B.  Explain how this would affect the minimum and maximum equilibrium prices.  (5)

d. Suppose there is only one seller of the 5 boats.  Determine the revenue maximizing price if the seller charges the same price to all buyers.  (5)

e. Suppose the dealers in a competitive market pay their salespeople a commission of $1000 per boat.  Explain how this will affect the equilibrium prices.  (5)

2. The demand equation for a monopolist’s product is:

QD = 200 – 5P

a.  The monopolist has 150 units.  Determine the monopolist’s price and quantity assuming it charges the same price to every buyer, and that it has no costs.  (7)

b.  Determine price and quantity if the monopolist only has 60 units.  (5)

c.  The monopolist faces a profit tax of 25%.  Explain how this will affect its price and quantity for the information given in part a.  (5)

d.  If the monopoly can engage in (1st degree) price discrimination, determine its maximum revenues if it had 150 units. Hint! Graph this information and think also of the consumers’ surplus.  (5)

SAMPLE MIDTERM

Value:  150 points: 30% of grade.  All work must be shown or explained to receive credit.
1. Juan has $60 to spend on goods X and Y. Good X costs $4 per unit and good Y costs $6 per unit.  Juan’s budget equation is:  (6)

2.  If you spent all your income, you could afford either 3 pounds of beef (X) and 7 pounds of chicken (Y), or 4 pounds of beef and 2 pounds of chicken.  Determine (i) the ratio of the price of beef to the price of chicken, and (ii) the budget equation assuming that the price of chicken is $1 per pound.  (10)

3.  The set of combinations of apples and bananas between which Lisa is indifferent is given by:  Xb =  30 - 8Xa0.5. (Both Xa and Xb must be non-negative).  
c. Bundles (4, ___) and (9, ___) lie on the same indifference curve.  (4)

d. Lisa’s MRSXa.Xb is give by the equation:  (7)

c.      Lisa’s MRSXa.Xb at (9,6) =   __________  (4)

d.      Determine whether Lisa’s indifference curve shows a diminishing MRS.  (8)

4. Julian has the following utility function:  U = X0.5Y0.5 where X is the number of CDs and Y is movies per month.

h. Sketch Julian’s indifference curve for U = 10 when X=1, X= 4, X= 9.  Label the axes.  (10)
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i. Determine the equation for the MRSx.y.  (7)

j. Determine Julian’s MRSx.y on this indifference curve when X=4.  (4)

k. Explain whether U = XY is a monotonic transformation of the utility function that was initially given.  (9)

l. Julian has $50 per month to spend on CDs and movies.  The price of a CD = $10 and a movie = $5.  Determine Julian’s optimum quantity of CDs and movies. (10)

m. Show the optimum on your graph in part a, including the budget line and its intercepts, and determine the highest utility (using the original utility equation) that Julian can attain.  (8)

n. Julian’s income doubles to $100 per month.  Without reworking the utility maximizing process, (i) explain what the new quantity of movies will be, and (ii) sketch Julian’s Engel curve below. (Label the axes)  (10)
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8. Thelma’s utility function is U = (X1 + 3)(X2 + 5).

e. Thelma’s current bundle is (2,7).  Louise offers to give Thelma 3 units of X1 for 5 units of X2.  Explain whether Thelma will accept this trade.  (6)

f. Determine the minimum amount of X1 that Louise must give Thelma for 5 units of X2.  (6)

g. Determine the equation for Thelma’s MRSX1.X2.  (6)

h. Suppose that the price of each good is $1 and that Thelma’s income is $26.  Determine whether Thelma is able to reach the indifference curve represented by U = 300.  (10)

9. When prices of goods X and Y are (4,6), Freddie chooses the bundle (6,6).  When prices change to (6,3), he chooses the bundle (10,0).  Show or explain whether Freddie’s behavior is consistent with theory of Revealed Preference.  (10)
10. What kind of utility functions are represented by the following example of behavior.  (15)

d. The individual always spends 30 percent of her income on food.

e. The individual always buys the same quantity of food regardless of income.

f. The individual always buys the same ratio of steak to potatoes regardless of the relative prices of these goods.










